# Multi-mixed fractional Brownian motions and Ornstein-Uhlenbeck processes 

Hamidreza Maleki Almani, Tommi Sottinen*<br>School of Technology and Innovations, University of Vaasa, P.O. Box 700, Wolffintie 34, FIN-65101 Vaasa, Finland

hmaleki@uwasa.fi (H. Maleki Almani), tommi.sottinen@uwasa.fi (T. Sottinen)

Received: 29 January 2023, Revised: 24 May 2023, Accepted: 26 May 2023,
Published online: 26 June 2023


#### Abstract

The so-called multi-mixed fractional Brownian motions ( mmfBm ) and multi-mixed fractional Ornstein-Uhlenbeck ( mmfOU ) processes are studied. These processes are constructed by mixing by superimposing or mixing (infinitely many) independent fractional Brownian motions ( fBm ) and fractional Ornstein-Uhlenbeck processes (fOU), respectively. Their existence as $L^{2}$ processes is proved, and their path properties, viz. long-range and short-range dependence, Hölder continuity, $p$-variation, and conditional full support, are studied.


Keywords Fractional Brownian motion, Gaussian processes, long-range dependence, multi-mixed fractional Brownian motion, multi-mixed fractional Ornstein-Uhlenbeck process, short-range dependence, stationary-increment processes, stationary processes 2010 MSC 60G10, 60G15, 60G22

## 1 Introduction and preliminaries

The first attempt to formulate the long-term memory of time series was in hydrology when Hurst (1951) and his colleagues were studying the fluctuation of the reservoir of the Nile river over a long period of time (see [16]). Later on, after the works of Mandelbrot (1968) in [24], it was clarified that this behavior of time series is because of including long-range depended noises called fractional Brownian motion

[^0]$(\mathrm{fBm}) B^{H}$. Regarding sources of these noises, in hydrology, they are accumulated from factors such as waterfalls, glaciers melting, riverbed shape and material, slope and direction, width and depth, local temperature, etc. Moreover, we know a river (especially a large one like the Nile) is a combination of many sub-rivers, and each sub-river (or even a large river) is also a combination of many sources like streams, mountain glaciers, underground water reservoirs, and rainfall in general. Now, one may ask

How many sources of such noises are there for a river reservoir in reality?

The answer of nature then, in practice, is infinity!
Table 1. Multi-mixed fBm arising from different Hurst exponents imposed to a river reservoir


So, let us consider the source $i$ has the noise $B^{H_{i}}$ with the weight of effect $\sigma_{i}$ to the river reservoir, then the general noise of the river can be written as a linear combination

$$
\begin{equation*}
M_{t}=\sum_{i=1}^{\infty} \sigma_{i} B_{t}^{H_{i}} . \tag{1}
\end{equation*}
$$

On the other hand, about the dynamic of a particle in a liquid, Langevin (1908) in [21] modeled the particle's velocity $U$ with an equation which was wisely revised later on by Doob (1942) [9] as

$$
\mathrm{d} U_{t}=-\lambda U_{t} \mathrm{~d} t+\mathrm{d} M_{t},
$$

where $\lambda>0$ is the mean reversion parameter and $M$ is a noise, caused by a fluctuating force imposed by an impact of the molecules of the surrounding medium. If $U_{0}=\xi$ then the unique solution of this equation is

$$
U_{t}=\mathrm{e}^{-\lambda t} \xi+\int_{0}^{t} \mathrm{e}^{-\lambda(t-s)} \mathrm{d} M_{s}
$$

First, this solution was given for all cases where $M$ is semimartingale, then Cheridito et al. (2003) in [8] confirmed this solution for the case the noise process is an fBm
$M=B^{H}$. Now, let us think the liquid is not purely homogeneous, so the local surrounding molecules (particles) can have different imposing forces according to their different sizes, weights, density, or dynamic patterns. Hence, if molecule (particle) $i$


Fig. 1. Free particle movement in a liquid bombarded by multiple molecules (particles) imposing multi-mixed fBm noises
imposes the noise force $B^{H_{i}}$ with the weight of effect $\sigma_{i}$ to the free particle, then the Langevin equation takes the form

$$
\begin{equation*}
U_{t}=\mathrm{e}^{-\lambda t} \xi+\int_{0}^{t} \mathrm{e}^{-\lambda(t-s)} \mathrm{d}\left(\sum_{i=1}^{\infty} \sigma_{i} B_{t}^{H_{i}}\right) \tag{2}
\end{equation*}
$$

In this article, our aim is to develop the analysis and some properties of the stochastic processes in equations (1) and (2). To do this, first, we review some mathematical concepts. The fractional Brownian motion (fBm) $B^{H}$, with parameter $H \in$ $(0,1)$ called the Hurst index, is the unique (up to a multiplicative constant) centered $H$-self-similar stationary-increment Gaussian process. The fBm was first studied in [19]. The name fractional Brownian motion comes from the influential article [24]. For further information of the fBm , see the monographs [6,25]. The covariance of the fBm with the Hurst index $H$ is given by

$$
r_{H}(t, s)=\frac{1}{2}\left[t^{2 H}+s^{2 H}-|t-s|^{2 H}\right] .
$$

For $H=1 / 2$ this process is well known as the Brownian motion (BM) or the Wiener process: $B^{\frac{1}{2}}=W$. As a stationary-increment process, the fBm has the spectral representation

$$
r_{H}(t, s)=\int_{\mathbb{R}} \frac{\left(\mathrm{e}^{\mathrm{i} s x}-1\right)\left(\mathrm{e}^{\mathrm{i} t x}-1\right)}{x^{2}} f_{H}(x) \mathrm{d} x
$$

where

$$
\begin{equation*}
f_{H}(x)=\frac{\sin (\pi H) \Gamma(1+2 H)}{2 \pi}|x|^{1-2 H} . \tag{3}
\end{equation*}
$$

Here $\Gamma$ is the complete gamma function

$$
\Gamma(\alpha)=\int_{0}^{\infty} t^{\alpha-1} \mathrm{e}^{-t} \mathrm{~d} t
$$

see [28].

Let

$$
\varrho_{H}(\delta ; t)=\mathbb{E}\left[\left(B_{\delta}^{H}-B_{0}^{H}\right)\left(B_{t+\delta}^{H}-B_{t}^{H}\right)\right]
$$

be the incremental autocovariance (with lag $\delta$ ) of the fBm . For $t \rightarrow \infty$ we have the power decay

$$
\varrho_{H}(\delta ; t) \sim H(2 H-1) \delta^{2} t^{2 H-2}
$$

This means that the increments of the fBm , called the fractional Gaussian noise (fGn), for $H>\frac{1}{2}$, are positively correlated and long-range dependent. However, for $H<\frac{1}{2}$ they are negatively correlated and short-range dependent.

In the Bm case $B^{\frac{1}{2}}=W$ we have independent increments, i.e. no dependence:

$$
\varrho_{\frac{1}{2}}(\delta ; t)=0
$$

The fBm has almost surely Hölder continuous paths with any order $H-\varepsilon$ for any $\varepsilon>0$. This follows, e.g., from Theorem 1 of [2].

In addition to Hölder continuity, we have the $p$-variation as a measure of the path regularity. For a process $X$ and $p \in[1, \infty)$ for the partitions $\pi_{n}:=\left\{t_{k}=\frac{k}{n} T: k=\right.$ $0,1, \ldots, n\}$, if

$$
V_{T}^{p}(X):=\lim _{n \rightarrow \infty} \sum_{k=1}^{n}\left|X_{t_{k}}-X_{t_{k-1}}\right|^{p}<\infty \quad \text { (limit in probability) }
$$

then it is said $X$ has equidistant $p$-variation on $[0, T]$, and its $p$-variation on $[0, T]$ is $V_{T}^{p}(X)$. For the $\mathrm{fBm} B^{H}$ then the $p$-variation is

$$
V_{T}^{p}\left(B^{H}\right)=\left\{\begin{array}{lll}
\infty & ; & p H<1 \\
T \mu_{p} & ; & p H=1 \\
0 & ; & p H>1
\end{array}\right.
$$

where $\mu_{p}$ is the $p$ th moment of a standard Gaussian process, see [10, 11].
While the fBm has been proposed as a model for financial time series, modeling with it makes arbitrage possible, see [4]. To eliminate this problem, a generalization called mixed fractional Brownian motion ( mfBm ) was introduced in [7]. This is the mixture model

$$
M^{a, b}=a B+b B^{H}
$$

where $a, b \in \mathbb{R}$ and $B$ is a standard Brownian motion ( Bm ) independent of the $\mathrm{fBm} B^{H}$. If $H>1 / 2$, the mfBm has the path roughness governed by the Bm part and the long-range dependence governed by the fBm part. Hence, e.g., in pricing of financial derivatives the corresponding mixed Black-Scholes model yields the same option prices as the standard Brownian model, see [5].

A natural generalization of the mfBm is to consider two (or $n$ ) independent fBm mixtures, see [23]. In this paper, we study an independent infinite-mixture generalization that we call the multi-mixed fractional Brownian motion ( mmfBm ) with parameters $\sigma_{k}, H_{k}, k \in \mathbb{N}$ :

$$
M=\sum_{k=1}^{\infty} \sigma_{k} B^{H_{k}}
$$

where $B^{H_{k}}$ 's are independent fBm 's with Hurst indices $H_{k} \in(0,1)$, and $\sigma_{k}$ 's are positive volatility constants satisfying $\sum_{k=1}^{\infty} \sigma_{k}^{2}<\infty$. This study extends the work of [30].

For other kinds of generalizations of the fBm, see, e.g., [14, 22, 26, 27].
The fractional Ornstein-Uhlenbeck process (fOU) $U^{\lambda, H}$, with parameters $\lambda>0$ and $H \in(0,1)$, is the stationary solution of the Langevin equation

$$
\mathrm{d} U_{t}^{\lambda, H}=-\lambda U_{t}^{\lambda, H} \mathrm{~d} t+\mathrm{d} B_{t}^{H},
$$

which is given by

$$
U_{t}^{\lambda, H}=\int_{-\infty}^{t} \mathrm{e}^{-\lambda(t-s)} \mathrm{d} B_{s}^{H},
$$

where $\left(B_{s}^{H}\right)_{s \leq 0}$ is an independent copy of the $\mathrm{fBm}\left(B_{s}^{H}\right)_{s \geq 0}$, see [8]. Note that the Langevin equation and its solution can be understood via integration by parts. As a stationary process, the fOU admits the spectral density

$$
\begin{equation*}
f_{\lambda, H}(x)=\frac{f_{H}(x)}{x^{2}+\lambda^{2}}, \tag{4}
\end{equation*}
$$

where $f_{H}$ is the spectral density of the driving fBm (3), see [3]. Denote, for $\alpha \in$ $(-1,0) \cup(0,1)$,

$$
\begin{align*}
\gamma_{\alpha}(x) & =\frac{1}{\Gamma(\alpha)} \int_{0}^{x} s^{\alpha-1} \mathrm{e}^{s} \mathrm{~d} s  \tag{5}\\
\Gamma_{\alpha}(x) & =\frac{1}{\Gamma(\alpha)} \int_{x}^{\infty} s^{\alpha-1} \mathrm{e}^{-s} \mathrm{~d} s \tag{6}
\end{align*}
$$

and $\gamma_{0}(x)=1, \Gamma_{0}(x)=0$. The functions $\gamma_{\alpha}$ and $\Gamma_{\alpha}$ are related to the incomplete Gamma functions and they can be calculated, e.g., by approximating the integrals with sums. The autocovariance function of the fOU process can be written as

$$
\begin{equation*}
\rho_{\lambda, H}(t)=\frac{\Gamma(1+2 H)}{4} \frac{\mathrm{e}^{-\lambda t}}{\lambda^{2 H}}\left\{1+\gamma_{2 H-1}(\lambda t)+\mathrm{e}^{2 \lambda t} \Gamma_{2 H-1}(\lambda t)\right\} . \tag{7}
\end{equation*}
$$

See Proposition 4.
A stationary process $X$ with the autocovariance function satisfying

$$
\rho(t) \sim c|t|^{-\alpha} \quad \text { as } \quad t \rightarrow \infty
$$

where $0 \neq c \in \mathbb{R}$, and " $\sim$ " means the ratio of left and right sides tends to 1 , is called long-range dependent (having long memory) if $0<\alpha \leq 1$, and short-range dependent (having short memory) if $\alpha>1$, see [18].

For $H=\frac{1}{2}$ we recover the well-known Bm case

$$
\rho_{\lambda, \frac{1}{2}}(t)=\frac{\mathrm{e}^{-\lambda t}}{2 \lambda} .
$$

For $t \rightarrow \infty$ we have the power decay

$$
\rho_{\lambda, H}(t)=\frac{1}{2} \sum_{n=1}^{N} \lambda^{-2 n}\left(\prod_{j=0}^{2 n-1}(2 H-j)\right) t^{2 H-2 n}+O\left(t^{2 H-2 N-2}\right),
$$

for $N=1,2, \ldots$, i.e., the fOU process with $H>\frac{1}{2}$ is long-range dependent, and for $H \leq \frac{1}{2}$ it is short-range dependent, see [8].

The Hölder continuity and $p$-variation of fOU is the same as for the mmfBm .
In this paper we study the multi-mixed fractional Ornstein-Uhlenbeck process (mmfOU) with parameters $\lambda>0$ and $\sigma_{k}, H_{k}, k \in \mathbb{N}$, that is defined naturally as the stationary solution of Langevin equation with mmfBm as the driving noise:

$$
\mathrm{d} U_{t}=-\lambda U_{t} \mathrm{~d} t+\mathrm{d} M_{t}
$$

with

$$
U_{0}=\int_{-\infty}^{0} \mathrm{e}^{\lambda s} \mathrm{~d} M_{s}
$$

where $\left(M_{s}\right)_{s \leq 0}$ is an independent copy of the mmfBm. This study develops the work of [17].

The rest of the paper is organized as follows. In Section 2 we define the multimixed fractional Brownian motions ( mmfBm ) and the associated multi-mixed fractional Ornstein-Uhlenbeck (mmfOU) processes, prove their existence in $L^{2}(\Omega \times$ $[0, T])$, and provide their basic properties. The long-range dependence of these processes are studied in Section 3. In Section 4 we analyze the Hölder continuity and $p$-variation of mmfBm 's and mmfOU processes. The $p$-variations of these processes are calculated in Section 5. In Section 6 we show that the mmfBm's and mmfOU processes have the conditional full support property. Finally, In Section 7 some simulated paths of these processes are given.

## 2 Definitions and basic properties

Definition 1. Let $\sigma_{k}, k \in \mathbb{N}$, satisfy

$$
\begin{equation*}
\sum_{k=1}^{\infty} \sigma_{k}^{2}<\infty \tag{8}
\end{equation*}
$$

and let $H_{k}, k \in \mathbb{N}$, satisfy

$$
\begin{align*}
H_{k} & \neq H_{l} \quad \text { for } k \neq l \\
H_{\text {inf }} & =\inf _{k \in \mathbb{N}} H_{k}>0  \tag{9}\\
H_{\text {sup }} & =\sup _{k \in \mathbb{N}} H_{k}<1
\end{align*}
$$

The multi-mixed fractional Brownian motion ( mmfBm ) is

$$
M=\sum_{k=1}^{\infty} \sigma_{k} B^{H_{k}}
$$

where $B^{H_{k}}, k \in \mathbb{N}$, are independent fBm 's.
The following proposition shows the existence of the mmfBm .

Proposition 1. The mmfBm $M$ exists as a random function taking values in $L^{2}(\Omega \times$ $[0, T])$ for all $T>0$.

Proof. Let $M^{n}=\sum_{k=1}^{n} \sigma_{k} B^{H_{k}}$. Clearly $M^{n}$ takes values in $L^{2}(\Omega \times[0, T])$. Let $n, m \in \mathbb{N}$ with $n>m$. Then

$$
\begin{aligned}
\left\|M^{n}-M^{m}\right\|_{L^{2}(\Omega \times[0, T])}^{2} & =\int_{0}^{T} \mathbb{E}\left[\left(M_{t}^{n}-M_{t}^{m}\right)^{2}\right] \mathrm{d} t \\
& =\int_{0}^{T} \mathbb{E}\left[\left(\sum_{k=m+1}^{n} \sigma_{k} B_{t}^{H_{k}}\right)^{2}\right] \mathrm{d} t \\
& =\sum_{k=m+1}^{n} \int_{0}^{T} \sigma_{k}^{2} \mathbb{E}\left[\left(B_{t}^{H_{k}}\right)^{2}\right] \mathrm{d} t \\
& =\sum_{k=m+1}^{n} \int_{0}^{T} \sigma_{k}^{2} t^{2 H_{k}} \mathrm{~d} t \\
& =\sum_{k=m+1}^{n} \sigma_{k}^{2} \frac{T^{1+2 H_{k}}}{1+2 H_{k}} \\
& \leq \sum_{k=m+1}^{n} \sigma_{k}^{2} \max \left\{1, T^{3}\right\}
\end{aligned}
$$

which shows that $\left(M^{n}\right)_{n \in \mathbb{N}}$ is the Cauchy sequence. Thus $M^{n} \rightarrow M$ in $L^{2}(\Omega \times[0, T])$ showing the existence.

In the same way we see that the $\mathrm{mmfBm}\left(M_{t}\right)_{t \geq 0}$ exists in the sense that $M_{t}^{n} \rightarrow$ $M_{t}$ in $L^{2}(\Omega)$ for all $t \geq 0$.

The following is now obvious.
Proposition 2. The mmfBm has stationary increments, its covariance function is

$$
\begin{equation*}
r(t, s)=\sum_{k=1}^{\infty} \sigma_{k}^{2} r_{H_{k}}(s, t)=\frac{1}{2} \sum_{k=1}^{\infty} \sigma_{k}^{2}\left[|t|^{2 H_{k}}+|s|^{2 H_{k}}-|t-s|^{2 H_{k}}\right] \tag{10}
\end{equation*}
$$

and it admits the spectral density

$$
\begin{equation*}
f(x)=\sum_{k=1}^{\infty} \sigma_{k}^{2} f_{H_{k}}(x)=\sum_{k=1}^{\infty} \frac{\sin \left(\pi H_{k}\right) \Gamma\left(1+2 H_{k}\right)}{2 \pi} \sigma_{k}^{2}|x|^{1-2 H_{k}} . \tag{11}
\end{equation*}
$$

Definition 2. The multi-mixed fractional Ornstein-Uhlenbeck process (mmfOU) $U$ with parameter $\lambda>0$ is the stationary solution of the Langevin equation

$$
\begin{equation*}
\mathrm{d} U_{t}=-\lambda U_{t} \mathrm{~d} t+\mathrm{d} M_{t}, \tag{12}
\end{equation*}
$$

where the equation is understood in the integration by parts sense.

Proposition 3. On $L^{2}(\Omega \times[0, T])$, the mmfOU can be represented as the integral

$$
U_{t}=\mathrm{e}^{-\lambda t} \xi+\int_{0}^{t} \mathrm{e}^{-\lambda(t-s)} \mathrm{d} M_{s}
$$

where the integral is understood in the integration by parts sense, and

$$
\xi=\int_{-\infty}^{0} \mathrm{e}^{\lambda s} \mathrm{~d} M_{s}
$$

where $\left(M_{s}\right)_{s \leq 0}$ is an independent copy of the $\operatorname{mmfBm}\left(M_{s}\right)_{s \geq 0}$.
Proof. Let $M^{n}=\sum_{k=1}^{n} \sigma_{k} B^{H_{k}}$. Then, the stationary solution of the Langevin equation

$$
\mathrm{d} U_{t}^{n}=-\lambda U_{t}^{n} \mathrm{~d} t+\mathrm{d} M_{t}^{n}
$$

is given by

$$
U_{t}^{n}=\mathrm{e}^{-\lambda t} \xi_{n}+\int_{0}^{t} \mathrm{e}^{-\lambda(t-s)} \mathrm{d} M_{s}^{n}
$$

where

$$
\xi_{n}=\int_{-\infty}^{0} \mathrm{e}^{\lambda s} \mathrm{~d} M_{s}^{n}
$$

Then, with integration by parts

$$
\begin{aligned}
& \int_{0}^{t} \mathrm{e}^{\lambda s} \mathrm{~d} M_{s}^{n}=\mathrm{e}^{\lambda t} M_{t}^{n}-\lambda \int_{0}^{t} \mathrm{e}^{\lambda s} M_{s}^{n} \mathrm{~d} s \\
& \quad \rightarrow \mathrm{e}^{\lambda t} M_{t}-\lambda \int_{0}^{t} \mathrm{e}^{\lambda s} M_{s} \mathrm{~d} s=\int_{0}^{t} \mathrm{e}^{\lambda s} \mathrm{~d} M_{s},
\end{aligned}
$$

because $M^{n} \rightarrow M$ in $L^{2}(\Omega \times[0, T])$. With the same arguments $\xi_{n} \rightarrow \xi$ in $L^{2}(\Omega)$. This yields $U^{n} \rightarrow U$ in $L^{2}(\Omega \times[0, T])$.

Lemma 1. For $0 \neq p \in(-1,1), \lambda>0, t>0$,

$$
\begin{equation*}
\int_{-\infty}^{\infty} \mathrm{e}^{\mathrm{i} t x} \frac{|x|^{p}}{\lambda^{2}+x^{2}} \mathrm{~d} x=\frac{\pi \mathrm{e}^{-\lambda t}}{2 \cos \left(\frac{p \pi}{2}\right) \lambda^{1-p}}\left\{1+\gamma_{-p}(\lambda t)+\mathrm{e}^{2 \lambda t} \Gamma_{-p}(\lambda t)\right\} \tag{13}
\end{equation*}
$$

where $\gamma_{-p}$ and $\Gamma_{-p}$ are given by (5) and (6).
Proof. Recall that for the Fourier transform

$$
\mathscr{F}(f)(x)=\frac{1}{\sqrt{2 \pi}} \int_{-\infty}^{\infty} \mathrm{e}^{-\mathrm{i} t x} f(t) \mathrm{d} t
$$

we have the convolution theorem

$$
\begin{equation*}
\int_{-\infty}^{\infty} \mathrm{e}^{\mathrm{i} t x} \mathscr{F}(f)(x) \mathscr{F}(g)(x) \mathrm{d} x=\int_{-\infty}^{\infty} f(t-\xi) g(\xi) \mathrm{d} \xi \tag{14}
\end{equation*}
$$

Moreover, we have

$$
\begin{align*}
\mathscr{F}\left(e^{-\lambda|t|}\right) & =\sqrt{\frac{2}{\pi}} \cdot \frac{\lambda}{\lambda^{2}+x^{2}}  \tag{15}\\
\mathscr{F}\left(|t|^{\alpha}\right) & =\sqrt{\frac{2}{\pi}} \cdot \Gamma(\alpha+1) \cos \left(\frac{(\alpha+1) \pi}{2}\right)|x|^{-(\alpha+1)} . \tag{16}
\end{align*}
$$

The first formula (15) is valid for $\lambda>0$. The second formula (16) is valid for $-1<\alpha<0$. For $-2<\alpha<-1$, because of the function $|t|^{\alpha}$, some singular terms arise at the origin. Nevertheless, it admits a unique meromorphic extension as a tempered distribution, also denoted $|t|^{\alpha}$ as a homogeneous distribution on all real line $\mathbb{R}$ including the origin (see [13]). So, we use that extension and formula (16) will be valid for all $-1 \neq \alpha \in(-2,0)$. So, using $f(t)=e^{-\lambda|t|}$ and $g(t)=|t|^{\alpha}$ in (14) we obtain

$$
\begin{aligned}
\frac{2}{\pi} \cdot & \Gamma(\alpha+1) \cos \left(\frac{(\alpha+1) \pi}{2}\right) \lambda \int_{-\infty}^{\infty} \mathrm{e}^{i t x} \frac{|x|^{-(\alpha+1)}}{\lambda^{2}+x^{2}} \mathrm{~d} x \\
= & \int_{-\infty}^{\infty}|\xi|^{\alpha} \mathrm{e}^{-\lambda|t-\xi|} \mathrm{d} \xi \\
= & \int_{-\infty}^{0}(-\xi)^{\alpha} \mathrm{e}^{-\lambda(t-\xi)} \mathrm{d} \xi \\
& +\int_{0}^{t} \xi^{\alpha} \mathrm{e}^{-\lambda(t-\xi)} \mathrm{d} \xi \\
& +\int_{t}^{\infty} \xi^{\alpha} \mathrm{e}^{-\lambda(\xi-t)} \mathrm{d} \xi \\
= & \frac{\mathrm{e}^{-\lambda t}}{\lambda^{(\alpha+1)}} \int_{0}^{\infty} u^{\alpha} \mathrm{e}^{-u} \mathrm{~d} u \\
& +\frac{\mathrm{e}^{-\lambda t}}{\lambda^{(\alpha+1)}} \int_{0}^{\lambda t} u^{\alpha} \mathrm{e}^{u} \mathrm{~d} u \\
& +\frac{\mathrm{e}^{\lambda t}}{\lambda^{(\alpha+1)}} \int_{\lambda t}^{\infty} u^{\alpha} \mathrm{e}^{-u} \mathrm{~d} u \\
= & \frac{\mathrm{e}^{-\lambda t} \Gamma(\alpha+1)}{\lambda^{(\alpha+1)}}\left\{1+\gamma(\alpha+1)(\lambda t)+\mathrm{e}^{2 \lambda t} \Gamma_{(\alpha+1)}(\lambda t)\right\} .
\end{aligned}
$$

Now, choosing $p=-(\alpha+1)$ proves (13).
Proposition 4 follows from Lemma 1 (see also [20]).
Proposition 4. The covariance function of the fOU is

$$
\begin{align*}
\rho_{\lambda, H}(t) & =\mathbb{E}\left[U_{s}^{\lambda, H} U_{s+t}^{\lambda, H}\right] \\
& =\frac{\Gamma(1+2 H)}{4} \frac{\mathrm{e}^{-\lambda t}}{\lambda^{2 H}}\left\{1+\gamma_{2 H-1}(\lambda t)+\mathrm{e}^{2 \lambda t} \Gamma_{2 H-1}(\lambda t)\right\} . \tag{17}
\end{align*}
$$

Proposition 5. The covariance function of the mmfOU is

$$
\begin{align*}
\rho_{\lambda}(t) & =\mathbb{E}\left[U_{s} U_{s+t}\right] \\
& =\sum_{k=1}^{\infty} \sigma_{k}^{2} \frac{\Gamma\left(1+2 H_{k}\right) \mathrm{e}^{-\lambda t}}{4 \lambda^{2} H_{k}}\left\{1+\gamma_{2 H_{k}-1}(\lambda t)+\mathrm{e}^{2 \lambda t} \Gamma_{2 H_{k}-1}(\lambda t)\right\}, \tag{18}
\end{align*}
$$

and it admits the spectral density

$$
\begin{equation*}
f_{\lambda}(x)=\sum_{k=1}^{\infty} \sigma_{k}^{2} \frac{\sin \left(\pi H_{k}\right) \Gamma\left(1+2 H_{k}\right)}{2 \pi} \frac{|x|^{1-2 H_{k}}}{x^{2}+\lambda^{2}} . \tag{19}
\end{equation*}
$$

Proof. Let $U^{n}$ be like in the proof of Proposition 3, then

$$
f_{\lambda, n}(x)=\sum_{k=1}^{n} \sigma_{k}^{2} \frac{\sin \left(\pi H_{k}\right) \Gamma\left(1+2 H_{k}\right)}{2 \pi} \frac{|x|^{1-2 H_{k}}}{x^{2}+\lambda^{2}}
$$

and $f_{\lambda, n}(x) \rightarrow f_{\lambda}(x)$ because $U^{n} \rightarrow U$ in $L^{2}(\Omega \times[0, T])$. This proves (19). Similarly, (18) follows by Proposition 4.

Remark 1. Proposition 4 represents the covariance function $\rho_{\lambda, H}(t)$ in a form involving special functions. However, these special complex functions are usually not suitable for numerical computations. For example, in [3], Lemma B.1, the following representation was used for $H>\frac{1}{2}$ :

$$
\begin{aligned}
\rho_{\lambda, H}(t) & =H \Gamma(2 H) \frac{e^{-\lambda t}}{\lambda^{2 H}}\left\{\frac{1+e^{2 \lambda t}}{2}-\frac{\lambda}{\Gamma(2 H-1)} I_{\lambda, H}(t)\right\}, \\
I_{\lambda, H}(t) & =\int_{0}^{t} \int_{0}^{\lambda v} e^{2 \lambda v} e^{-s} s^{2 H-2} \mathrm{~d} s \mathrm{~d} v .
\end{aligned}
$$

The double integral above seems reasonable enough, but yields slow numerical calculation in practice. This can be improved by calculating the inner integral as follows:

$$
\begin{aligned}
I_{\lambda, H}(t) & =\int_{0}^{\lambda t} \int_{s / \lambda}^{t} e^{2 \lambda v} e^{-s} s^{2 H-2} \mathrm{~d} s \mathrm{~d} v \\
& =\frac{1}{2 \lambda} \int_{0}^{\lambda t} s^{2 H-2}\left(e^{2 \lambda t-s}-e^{s}\right) \mathrm{d} s \\
& =\frac{e^{\lambda t}}{\lambda} \int_{0}^{\lambda t} s^{2 H-2} \sinh (\lambda t-s) \mathrm{d} s .
\end{aligned}
$$

Consequently,

$$
\begin{equation*}
\rho_{\lambda, H}(t)=\frac{\Gamma(2 H+1)}{2 \lambda^{2 H}}\left\{\cosh (\lambda t)-\frac{1}{\Gamma(2 H-1)} \int_{0}^{\lambda t} s^{2 H-2} \sinh (\lambda t-s) d s\right\} . \tag{20}
\end{equation*}
$$

For the case $H<1 / 2$ we use the following developed version of Lemma 5.1 in [15] for $\alpha>-1$. The proof is similar.
Lemma 2. For $\alpha>-1$

$$
\int_{0}^{\infty} \int_{0}^{\infty} \mathrm{e}^{-(x+y)}|x-y|^{\alpha} \mathrm{d} x \mathrm{~d} y=\Gamma(\alpha+1)
$$

Theorem 1. For the fOU process $U^{\lambda, H}$, we have

$$
\begin{equation*}
\rho_{\lambda, H}(t)=\frac{\Gamma(2 H+1)}{2 \lambda^{2 H}}\left\{\cosh (\lambda t)-\frac{1}{\Gamma(2 H)} \int_{0}^{\lambda t} s^{2 H-1} \cosh (\lambda t-s) d s\right\} \tag{21}
\end{equation*}
$$

and so for mmfOU process we have

$$
\rho_{\lambda}(t)=\sum_{k=0}^{\infty} \sigma_{k}^{2} \frac{\Gamma\left(2 H_{k}+1\right)}{2 \lambda^{2 H_{k}}}\left\{\cosh (\lambda t)-\frac{1}{\Gamma\left(2 H_{k}\right)} \int_{0}^{\lambda t} s^{2 H_{k}-1} \cosh (\lambda t-s) d s\right\} .
$$

Proof. For $H=1 / 2$, the right-hand side of (21) is $\mathrm{e}^{-\lambda t} / 2 \lambda$, equal to the autocovariance of the classical Ornstein-Uhlenbeck process with respect to the standard Brownian motion. For $H>1 / 2$, we obtain (21) from (20) via integration by parts. To prove it for $H<1 / 2$, we will apply the same approach as in the proof of Lemma B. 1 in [3]

$$
\begin{aligned}
\rho_{\lambda, H}(t) & =\mathbb{E}\left[U_{t}^{\lambda, H} U_{0}^{\lambda, H}\right] \\
& =\mathbb{E}\left[\int_{-\infty}^{0} \mathrm{e}^{\lambda u} \mathrm{~d} B_{u}^{H} \int_{-\infty}^{t} \mathrm{e}^{-\lambda(t-v)} \mathrm{d} B_{v}^{H}\right] \\
& =\mathrm{e}^{-\lambda t}\left\{\operatorname{Var}\left(U_{0}^{\lambda, H}\right)+\mathbb{E}\left[\int_{-\infty}^{0} \mathrm{e}^{\lambda u} \mathrm{~d} B_{u}^{H} \int_{0}^{t} \mathrm{e}^{\lambda v} \mathrm{~d} B_{v}^{H}\right]\right\} .
\end{aligned}
$$

To obtain the term $\operatorname{Var}\left(U_{0}^{\lambda, H}\right)$ in a closed form, [3] referred to Lemma 5.2 in [15]; however, such form was only obtained for $H \geq 1 / 2$, and so we need to extend their result for $H<1 / 2$.

Since

$$
U_{0}^{\lambda, H}=\int_{-\infty}^{0} \mathrm{e}^{\lambda u} \mathrm{~d} B_{u}^{H}=-\lambda \int_{-\infty}^{0} \mathrm{e}^{\lambda u} B_{u}^{H} \mathrm{~d} u,
$$

we have

$$
\begin{aligned}
\operatorname{Var}\left(U_{0}^{\lambda, H}\right) & =\mathbb{V a r}\left[-\lambda \int_{-\infty}^{0} \mathrm{e}^{\lambda u} B_{u}^{H} \mathrm{~d} u\right] \\
& =\lambda^{2} \mathbb{V} a r\left[\int_{0}^{\infty} \mathrm{e}^{-\lambda u} B_{u}^{H} \mathrm{~d} u\right] \\
& =\lambda^{2} \mathbb{E}\left[\left(\int_{0}^{\infty} \mathrm{e}^{-\lambda u} B_{u}^{H} \mathrm{~d} u\right)^{2}\right] \\
& =\lambda^{2} \mathbb{E}\left[\int_{0}^{\infty} \int_{0}^{\infty} \mathrm{e}^{-\lambda(u+v)} B_{u}^{H} B_{v}^{H} \mathrm{~d} u \mathrm{~d} v\right]
\end{aligned}
$$

$$
\begin{aligned}
= & \frac{\lambda^{2}}{2} \int_{0}^{\infty} \int_{0}^{\infty} \mathrm{e}^{-\lambda(u+v)} \cdot\left\{u^{2 H}+v^{2 H}-|u-v|^{2 H}\right\} \mathrm{d} u \mathrm{~d} v \\
= & \frac{\lambda^{2}}{2}\left\{2\left(\int_{0}^{\infty} \mathrm{e}^{-\lambda u} \mathrm{~d} u\right)\left(\int_{0}^{\infty} \mathrm{e}^{-\lambda v} v^{2 H} \mathrm{~d} v\right)\right. \\
& \left.-\int_{0}^{\infty} \int_{0}^{\infty} \mathrm{e}^{-\lambda(u+v)}|u-v|^{2 H} \mathrm{~d} u \mathrm{~d} v\right\}
\end{aligned}
$$

Now choosing $x=\lambda u, y=\lambda v$ by Lemma 2 we have

$$
\begin{align*}
\operatorname{Var}\left(U_{0}^{\lambda, H}\right)= & \frac{\lambda^{-2 H}}{2}\left\{2 \int_{0}^{\infty} \mathrm{e}^{-y} y^{2 H} \mathrm{~d} y\right. \\
& \left.-\int_{0}^{\infty} \int_{0}^{\infty} \mathrm{e}^{-(x+y)}|x-y|^{2 H} \mathrm{~d} x \mathrm{~d} y\right\} \\
= & \frac{\lambda^{-2 H}}{2}[2 \Gamma(2 H+1)-\Gamma(2 H+1)] \\
= & \lambda^{-2 H} H \Gamma(2 H) \tag{22}
\end{align*}
$$

On the other hand, as in Lemma 2.1 in [8] and the proof of Lemma B. 1 in [3], using formula

$$
\gamma_{\ell}(z, x)=\frac{\gamma_{\ell}(z+1, x)+x^{z} \mathrm{e}^{-x}}{z}
$$

where $\gamma_{\ell}$ is the well-known lower Gamma function, for $H<1 / 2$ we have

$$
\begin{aligned}
& \mathbb{E}\left[\int_{-\infty}^{0} \mathrm{e}^{\lambda u} \mathrm{~d} B_{u}^{H} \int_{0}^{t} \mathrm{e}^{\lambda v} \mathrm{~d} B_{v}^{H}\right] \\
&= H(2 H-1) \int_{-\infty}^{0} \int_{0}^{t} \mathrm{e}^{-\lambda(u+v)}|u-v|^{2 H-2} \mathrm{~d} u \mathrm{~d} v \\
&= \operatorname{Var}\left(U_{0}^{\lambda, H}\right)\left\{\frac{\mathrm{e}^{2 \lambda t}-1}{2}\right. \\
&\left.-\frac{\lambda}{\Gamma(2 H-1)} \int_{0}^{t} \mathrm{e}^{2 \lambda v} \int_{0}^{\lambda v} \mathrm{e}^{-s} s^{2 H-2} \mathrm{~d} s \mathrm{~d} v\right\} \\
&= \operatorname{Var}\left(U_{0}^{\lambda, H}\right)\left\{\frac{\mathrm{e}^{2 \lambda t}-1}{2}\right. \\
&\left.-\frac{\lambda}{\Gamma(2 H-1)} \int_{0}^{t} \mathrm{e}^{2 \lambda v} \gamma_{\ell}(2 H-1, \lambda v) \mathrm{d} v\right\} \\
&= \operatorname{Var}\left(U_{0}^{\lambda, H}\right)\left\{\frac{\mathrm{e}^{2 \lambda t}-1}{2}\right. \\
&-\frac{\lambda}{\Gamma(2 H)} \int_{0}^{t} \mathrm{e}^{2 \lambda v} \gamma_{\ell}(2 H, \lambda v) \mathrm{d} v \\
&\left.-\frac{\lambda^{2 H}}{\Gamma(2 H)} \int_{0}^{t} \mathrm{e}^{\lambda v} v^{2 H-1} \mathrm{~d} v\right\} \\
&= \operatorname{Var}\left(U_{0}^{\lambda, H}\right)\left\{\frac{\mathrm{e}^{2 \lambda t}-1}{2}\right.
\end{aligned}
$$

$$
\begin{align*}
& -\frac{\lambda}{\Gamma(2 H)} \int_{0}^{t} \mathrm{e}^{2 \lambda v} \int_{0}^{\lambda v} \mathrm{e}^{-s} s^{2 H-1} \mathrm{~d} s \mathrm{~d} v \\
& \left.-\frac{\lambda^{2 H}}{\Gamma(2 H)} \int_{0}^{t} \mathrm{e}^{\lambda v} v^{2 H-1} \mathrm{~d} v\right\} \tag{23}
\end{align*}
$$

Using (22) and (23), with similar arguments as we did for (20), we obtain (21).

## 3 Long-range dependence

The increments of fBm are a well-known stationary process, that is long-range dependent (LRD) if $H>1 / 2$, see [18]. Motivated by this, we consider the LRD for the increments of the mmfBm

$$
\Delta_{\delta} M_{t}=\sum_{k=1}^{\infty} \sigma_{k} \Delta_{\delta} B_{t}^{H_{k}}
$$

with covariance function

$$
\varrho(\delta ; t)=\mathbb{E}\left[\Delta_{\delta} M_{s+t} \Delta_{\delta} M_{s}\right]
$$

where $\delta>0$ is the lag and $\Delta_{\delta} x_{t}=x_{t+\delta}-x_{t}$ for a process $x$.
Theorem 2. For $t \rightarrow \infty$,

$$
\begin{equation*}
\varrho(\delta ; t) \sim \delta^{2} \sum_{k=1}^{\infty} \sigma_{k}^{2} H_{k}\left(2 H_{k}-1\right) t^{2 H_{k}-2}=O\left(t^{2 H_{\text {sup }}-2}\right) \tag{24}
\end{equation*}
$$

So the mmfBm increment process $\Delta_{\delta} M_{t}$ is LRD if and only if $H_{k}>1 / 2$ for some $k \geq 0$.

Proof. By using the generalized binomial theorem,

$$
\begin{align*}
\varrho(\delta ; t) & =\frac{1}{2} \sum_{k=1}^{\infty} \sigma_{k}^{2}\left\{(t+\delta)^{2 H_{k}}+(t-\delta)^{2 H_{k}}-2 t^{2 H_{k}}\right\} \\
& =\frac{1}{2} \sum_{k=1}^{\infty} \sigma_{k}^{2} t^{2 H_{k}}\left\{\left(1+\frac{\delta}{t}\right)^{2 H_{k}}+\left(1-\frac{\delta}{t}\right)^{2 H_{k}}-2\right\} \\
& =\frac{1}{2} \sum_{k=1}^{\infty} \sigma_{k}^{2} t^{2 H_{k}}\left\{\sum_{r=0}^{\infty}\binom{2 H_{k}}{r}\left(\frac{\delta}{t}\right)^{r}+\sum_{r=0}^{\infty}\binom{2 H_{k}}{r}(-1)^{r}\left(\frac{\delta}{t}\right)^{r}-2\right\} \\
& \sim \delta^{2} \sum_{k=1}^{\infty} \sigma_{k}^{2} H_{k}\left(2 H_{k}-1\right) t^{2 H_{k}-2} . \tag{25}
\end{align*}
$$

Since

$$
\sigma_{k}^{2} H_{k}\left(2 H_{k}-1\right) t^{2 H_{k}-2} \leq \sigma_{k}^{2},
$$

the series (25) is uniformly convergent. So we have

$$
\lim _{t \rightarrow \infty} \sum_{k=1}^{\infty} \sigma_{k}^{2} H_{k}\left(2 H_{k}-1\right) t^{2 H_{k}-2}=\sum_{k=1}^{\infty} \lim _{t \rightarrow \infty} \sigma_{k}^{2} H_{k}\left(2 H_{k}-1\right) t^{2 H_{k}-2}
$$

This yields (24).
To investigate LRD for the mmfOU process, we first need some lemmas.
The following theorem shows that similar to the mmfBm increment process, the long-range dependence of the mmfOU is governed by the long-range dependence of the largest Hurst index in the driving mmfBm.
Theorem 3. For $t \rightarrow \infty$ and each $N=1,2, \ldots$,

$$
\begin{equation*}
\rho_{\lambda}(t)=\frac{1}{2} \sum_{k=1}^{\infty} \sum_{n=1}^{N} \sigma_{k}^{2} \lambda^{-2 n}\left(\prod_{j=0}^{2 n-1}\left(2 H_{k}-j\right)\right) t^{2 H_{k}-2 n}+O\left(t^{2 H_{\text {sup }}-2 N-2}\right) . \tag{26}
\end{equation*}
$$

So the mmfOU process $U$ is LRD if and only if $H_{k}>1 / 2$ for some $k \geq 0$.
Proof. By the proof of Lemma 2.2 and Theorem 2.3 in [8]

$$
\begin{align*}
\rho_{\lambda}(t)= & \mathbb{E}\left[\int_{-\infty}^{0} \mathrm{e}^{\lambda u} \mathrm{~d} M_{u} \int_{-\infty}^{t} \mathrm{e}^{-\lambda(t-v)} \mathrm{d} M_{v}\right] \\
= & \mathrm{e}^{-\lambda t} \mathbb{E}\left[\int_{-\infty}^{0} \mathrm{e}^{\lambda u} \mathrm{~d} M_{u} \int_{-\infty}^{1 / \lambda} \mathrm{e}^{\lambda v} \mathrm{~d} M_{v}\right] \\
& +\mathrm{e}^{-\lambda t} \sum_{i=1}^{\infty} \sigma_{i}^{2} H_{i}\left(2 H_{i}-1\right) \\
& \times \int_{-\infty}^{0} \mathrm{e}^{\lambda u}\left(\int_{1 / \lambda}^{t} \mathrm{e}^{\lambda v}(v-u)^{2 H_{i}-2} \mathrm{~d} v\right) \mathrm{d} u \\
= & O\left(\mathrm{e}^{-\lambda t}\right) \\
& +\frac{1}{2} \sum_{i=1}^{\infty} \sigma_{i}^{2} \frac{H_{i}\left(2 H_{i}-1\right)}{\lambda^{2 H_{i}}}\left\{\mathrm{e}^{-\lambda t} \int_{1}^{\lambda t} \mathrm{e}^{y} y^{2 H_{i}-2} \mathrm{~d} y\right. \\
& \left.+\mathrm{e}^{\lambda t} \int_{\lambda t}^{\infty} \mathrm{e}^{-y} y^{2 H_{i}-2} \mathrm{~d} y\right\} \\
\leq & O\left(\mathrm{e}^{-\lambda t}\right) \\
& +\frac{1}{2} \sum_{k=1}^{\infty} \sum_{n=1}^{N} \sigma_{k}^{2} \lambda^{-2 n}\left(\prod_{j=0}^{2 n-1}\left(2 H_{k}-j\right)\right) t^{2 H_{k}-2 n} \\
& +\frac{1}{2} \sum_{k=1}^{\infty} \sigma_{k}^{2} \frac{\left|H_{k}\left(2 H_{k}-1\right) \cdots\left(2 H_{k}-2-2 N\right)\right|}{\lambda^{2 H_{k}}} \\
& \times\left[\mathrm{e}^{-\frac{\lambda t}{2}}+\left(1+2^{2 H_{k}-2 N-3}\right)(\lambda t)^{2 H_{k}-2 N-3}\right] . \tag{27}
\end{align*}
$$

Now, for $t \in[1, \infty)$,

$$
\begin{aligned}
& \frac{\left|H_{k}\left(2 H_{k}-1\right) \cdots\left(2 H_{k}-2-2 N\right)\right|}{\lambda^{2 H_{k}}} \mathrm{e}^{-\frac{\lambda t}{2}}<\Lambda_{N} \\
& \frac{\left|H_{k}\left(2 H_{k}-1\right) \cdots\left(2 H_{k}-2-2 N\right)\right|}{\lambda^{2 H_{k}}}\left(1+2^{2 H_{k}-2 N-3}\right)(\lambda t)^{2 H_{k}-2 N-3}<\Pi_{N},
\end{aligned}
$$

where

$$
\begin{aligned}
\Lambda_{N}= & H_{\text {sup }} \frac{\max \left(\left|2 H_{\mathrm{inf}}-1\right|,\left|2 H_{\text {sup }}-1\right|\right)}{\max \left(\lambda^{2 H_{\mathrm{inf}}}, \lambda^{2 H_{\mathrm{sup}}}\right)}\left|\left(2 H_{\mathrm{inf}}-2\right) \cdots\left(2 H_{\mathrm{inf}}-2-2 N\right)\right| \\
\Pi_{N}= & H_{\mathrm{sup}} \frac{\max \left(\left|2 H_{\mathrm{inf}}-1\right|,\left|2 H_{\mathrm{sup}}-1\right|\right)}{\lambda^{2 N+3}}\left|\left(2 H_{\mathrm{inf}}-2\right) \cdots\left(2 H_{\mathrm{inf}}-2-2 N\right)\right| \\
& \times\left(1+2^{2 H_{\mathrm{sup}}-2 N-3}\right)
\end{aligned}
$$

So, as $\sum_{k=1}^{\infty} \sigma_{k}^{2}<\infty$, the series in the right-hand side of the inequality (27) is uniformly convergent on $t \in[1, \infty)$. Hence

$$
\begin{aligned}
& \lim _{t \rightarrow \infty} \sum_{k=1}^{\infty} \sigma_{k}^{2} \frac{\left|H_{k}\left(2 H_{k}-1\right) \cdots\left(2 H_{k}-2-2 N\right)\right|}{\lambda^{2 H_{k}}} \\
& \times\left[\mathrm{e}^{-\frac{\lambda t}{2}}+\left(1+2^{2 H_{k}-2 N-3}\right)(\lambda t)^{2 H_{k}-2 N-3}\right] \\
&= \sum_{k=1}^{\infty} \sigma_{k}^{2} \frac{\left|H_{k}\left(2 H_{k}-1\right) \cdots\left(2 H_{k}-2-2 N\right)\right|}{\lambda^{2 H_{k}}} \\
& \quad \times \lim _{t \rightarrow \infty}\left[\mathrm{e}^{-\frac{\lambda t}{2}}+\left(1+2^{2 H_{k}-2 N-3}\right)(\lambda t)^{2 H_{k}-2 N-3}\right]
\end{aligned}
$$

This proves (26).

## 4 Continuity

Definition 3. Let $X=\left(X_{t}\right)$ be a continuous stochastic process defined on a probability space $(\Omega, \mathcal{F}, \mathbb{P})$. If

$$
H:=\sup \left\{v>0: \sup _{s, t} \frac{X_{t}-X_{s}}{|t-s|^{v}}<\infty\right\}<\infty
$$

the process $X$ is called Hölder continuous with index $H$, and $H$ is its Hölder index.
Theorem 4. Both mmfBm and mmfOU have Hölder index $H_{\mathrm{inf}}$.
Proof. For $\epsilon>0$ and $|t-s|<1$, the mmfBm satisfies

$$
\mathbb{E}\left[\left(M_{t}-M_{s}\right)^{2}\right]=\sum_{k=1}^{\infty} \sigma_{k}^{2}|t-s|^{2 H_{k}} \leq\left(\sum_{k=1}^{\infty} \sigma_{k}^{2}\right)|t-s|^{2 H_{\mathrm{inf}}-\epsilon}=C_{0}|t-s|^{2 H_{\mathrm{inf}}-\epsilon},
$$

where $C_{0}:=\sum_{k=1}^{\infty} \sigma_{k}^{2}>0$. Thus, the claim follows from Theorem 1 of [2]. On the other hand, for some $j \geq 1$ we have $H_{\text {inf }} \leq H_{j}<H_{\text {inf }}+\epsilon$ and so the $\mathrm{fBm} B^{H_{j}}$ is not $\left(H_{\mathrm{inf}}+\epsilon\right)$-Hölder continuous. Hence the process $M=\sigma_{j} B^{H_{j}}+\sum_{k \neq j} \sigma_{k} B^{H_{k}}$ is not ( $H_{\mathrm{inf}}+\epsilon$ )-Hölder continuous. This proves the claim for mmfBm .

For the mmfOU, we apply Corollary 2 of [2]. That states the process $U_{t}$ is Höldercontinuous of any order $0<a<H_{\text {inf }}$ if and only if for each $0<\epsilon<2 H_{\text {inf }}$, there is some $0<\delta<1$ such that

$$
\begin{equation*}
\int_{0}^{\infty}(1-\cos (s x)) f_{\lambda}(x) d x<C_{\epsilon} s^{2 H_{\mathrm{inf}}-\epsilon}, \quad s \in(0, \delta) \tag{28}
\end{equation*}
$$

This is equivalent to

$$
\int_{0}^{\infty} \frac{(1-\cos (s x))}{s^{2 H_{\mathrm{inf}}-\epsilon}} f_{\lambda}(x) d x<C_{\epsilon}, \quad s \in(0, \delta) .
$$

To show this, here for $s<1$ we have

$$
\begin{aligned}
& \int_{0}^{\infty} \frac{(1-\cos (s x))}{s^{2 H_{k}-\epsilon}} f_{\lambda, H_{k}}(x) d x \\
&=s^{\epsilon} c_{H_{k}} \int_{0}^{\infty}(1-\cos (s x)) \frac{x \cdot(s x)^{-2 H_{k}}}{\lambda^{2}+x^{2}} d x \\
&=s^{\epsilon} c_{H_{k}} \int_{0}^{\infty}(1-\cos u) \frac{u^{1-2 H_{k}}}{s^{2} \lambda^{2}+u^{2}} d u \quad(u=s x) \\
& \leq c_{H_{k}} \int_{0}^{\infty}(1-\cos u) \frac{u^{1-2 H_{k}}}{s^{2} \lambda^{2}+u^{2}} d u \quad(0<s<1) \\
& \leq c_{H_{k}}\left\{\int_{0}^{\epsilon}(1-\cos u) \frac{u^{1-2 H_{k}}}{u^{2}} d u+\int_{\epsilon}^{\infty} \frac{u^{1-2 H_{k}}}{u^{2}} d u\right\} \\
&=c_{H_{k}}\left\{\int_{0}^{\epsilon} \frac{2 \sin ^{2}\left(\frac{u}{2}\right)}{u^{2}} u^{1-2 H_{k}} d u+\int_{\epsilon}^{\infty} u^{-1-2 H_{k}} d u\right\} \\
& \quad \leq c_{H_{k}}\left\{\int_{0}^{\epsilon} \frac{1}{2} u^{1-2 H_{k}} d u+\int_{\epsilon}^{\infty} u^{-1-2 H_{k}} d u\right\} \\
& \quad=c_{H_{k}}\left\{\frac{\epsilon^{2-2 H_{k}}}{4\left(1-H_{k}\right)}+\frac{\epsilon^{-2 H_{k}}}{2 H_{k}}\right\}=: C_{\epsilon, H_{k}}<\infty .
\end{aligned}
$$

Therefore,

$$
\begin{equation*}
\int_{0}^{\infty}(1-\cos (s x)) f_{\lambda, H_{k}}(x) d x \leq C_{\epsilon, H_{k}} s^{2 H_{k}-\epsilon} \leq C_{\epsilon, H_{k}} s^{2 H_{\mathrm{inf}}-\epsilon} \tag{29}
\end{equation*}
$$

Also, we have

$$
\begin{align*}
\sum_{k=1}^{\infty} \sigma_{k}^{2} C_{\epsilon, H_{k}} & =\sum_{k=1}^{\infty} \sigma_{k}^{2} \frac{\sin \left(\pi H_{k}\right) \Gamma\left(1+2 H_{k}\right)}{2 \pi}\left\{\frac{\epsilon^{2-2 H_{k}}}{4\left(1-H_{k}\right)}+\frac{\epsilon^{-2 H_{k}}}{2 H_{k}}\right\} \\
& \leq \frac{\Gamma(3)}{2 \pi}\left\{\frac{\epsilon^{2-2 H_{\text {sup }}}}{4\left(1-H_{\text {sup }}\right)}+\frac{\epsilon^{-2 H_{\mathrm{inf}}}}{2 H_{\mathrm{inf}}}\right\}\left(\sum_{k=1}^{\infty} \sigma_{k}^{2}\right)=: C_{\epsilon}<\infty \tag{30}
\end{align*}
$$

if and only if $0<H_{\mathrm{inf}} \leq H_{\text {sup }}<1$ and $\sum_{k=1}^{\infty} \sigma_{k}^{2}<\infty$. Now, (29) and (30) yield (28). Moreover, for some $j \geq 1$ we have $H_{\text {inf }} \leq H_{j}<H_{\text {inf }}+\epsilon$ and so the fOU $U^{H_{j}}$ is not $\left(H_{\mathrm{inf}}+\epsilon\right)$-Hölder continuous. Hence the process $U=\sigma_{j} U^{H_{j}}+\sum_{k \neq j} \sigma_{k} U^{H_{k}}$ is not ( $H_{\text {inf }}+\epsilon$ )-Hölder continuous. This proves the claim for mmfOU.

## 5 Variation

Recall that the p-variation of fBm with $H \in(0,1)$ on the time-interval $[0, T]$ is given in Definition 3.4 of [29] as

$$
V_{T}^{p}\left(B^{H}\right)=\lim _{\left|\pi_{n}\right| \rightarrow 0} \sum_{t_{k} \in \pi_{n}}\left|\Delta B_{t_{k}}^{H}\right|^{p}=\left\{\begin{array}{lll}
\infty & ; p H<1 \\
T \mu_{p} & ; p H=1 \\
0 & ; p H>1
\end{array}\right.
$$

where $\pi_{n}=\left\{t_{k}=\frac{k}{n}\right\}_{k=0}^{n}$ is a partition of $[0, T]$, and $\mu_{p}$ is the $p$ th absolute moment of a standard Gaussian process, and the limit is taken in probability. With the same argument, it is easy to check that for the mixed fractional Brownian motion (mfBm) $Y=a B+b B^{H}$ the $p$-variation is

$$
V_{T}^{p}(Y)=\lim _{\left|\pi_{n}\right| \rightarrow 0} \sum_{t_{k} \in \pi_{n}}\left|\Delta Y_{t_{k}}\right|^{p}= \begin{cases}\infty & ; p \min (1 / 2, H)<1 \\ T a^{p} \mu_{p} & ; H>1 / 2, p / 2=1 \\ T\left(a^{2}+b^{2}\right)^{p / 2} \mu_{p} & ; H=1 / 2, p / 2=1 \\ T b^{p} \mu_{p} & ; H<1 / 2, p H=1 \\ 0 & ; \quad p \min (1 / 2, H)>1\end{cases}
$$

where $a, b>0$, and $B$ is the standard Brownian motion, and $B^{H}$ is a standard fBm independent from $B$. Now, for the $p$-variation of the mmfBm we have the next theorem.
Theorem 5. For $p>0$, the $p$-variations of the $m m f B m ~ M$ and the mmfOU $U$ on the time-interval $[0, T]$ are equal and

$$
V_{T}^{p}(M)=V_{T}^{p}(U)=\left\{\begin{array}{lll}
\infty & p H_{\mathrm{inf}}<1  \tag{31}\\
T\left(\sum_{H_{i}=H_{\mathrm{inf}}} \sigma_{i}^{2}\right)^{p / 2} \mu_{p} & ; \quad p H_{\mathrm{inf}}=1 \\
0 & ; & p H_{\mathrm{inf}}>1
\end{array}\right.
$$

Proof. For the $\operatorname{mmfBm} M$, we have

$$
\begin{aligned}
v_{\pi_{n}}^{p}(M) & :=\sum_{t_{k} \in \pi_{n}}\left|\Delta M_{t_{k}}\right|^{p} \\
& =\sum_{t_{k} \in \pi_{n}}\left|\sum_{i=1}^{\infty} \sigma_{i}^{2}\left(\Delta t_{k}\right)^{2 H_{i}}\right|^{p / 2}\left|\frac{\Delta M_{t_{k}}}{\left[\sum_{i=1}^{\infty} \sigma_{i}^{2}\left(\Delta t_{k}\right)^{2 H_{i}}\right]^{1 / 2}}\right|^{p} \\
& \stackrel{d}{=}\left(\sum_{i=1}^{\infty} \sigma_{i}^{2} T^{2 H_{i}} n^{2 / p-2 H_{i}}\right)^{p / 2} \cdot \frac{1}{n} \sum_{k=1}^{n}\left|Z_{k}\right|^{p}
\end{aligned}
$$

as $\left|\pi_{n}\right| \rightarrow 0$, or equivalently $n \rightarrow \infty$. Here $Z_{k}$ is a standard Gaussian process and so by the proof of Lemma 3.7 in [29]

$$
\frac{1}{n} \sum_{k=1}^{n}\left|Z_{k}\right|^{p} \rightarrow \mu_{p}
$$

as $n \rightarrow \infty$, where $\mu_{p}$ is the $p$ th absolute moment of the standard Gaussian process. Now, if $p H_{\mathrm{inf}}<1$ then $H_{\mathrm{inf}}<1 / p$, and so there exists some $j \geq 1$ that $H_{j}<1 / p$, and so $2 / p-2 H_{j}>0$. Therefore

$$
v_{\pi_{n}}^{p}(M) \geq\left(\sigma_{j}^{2} T^{2 H_{j}} n^{2 / p-2 H_{j}}\right)^{p / 2} \cdot \frac{1}{n} \sum_{k=1}^{n}\left|Z_{k}\right|^{p} \rightarrow \infty
$$

On the other hand, if $p H_{\mathrm{inf}} \geq 1$, for $x \in(1, \infty)$

$$
\sigma_{i}^{2} T^{2 H_{i}} x^{2 / p-2 H_{i}} \leq \sigma_{i}^{2} T^{2}
$$

and because $\sum_{i=1}^{\infty} \sigma_{i}^{2}<\infty$, the $\sum_{i=1}^{\infty} \sigma_{i}^{2} T^{2 H_{i}} x^{2 / p-2 H_{i}}$ is uniformly convergent on $x \in[1, \infty)$. So for $p H_{\mathrm{inf}} \geq 1$,

$$
\lim _{n \rightarrow \infty} \sum_{i=1}^{\infty} \sigma_{i}^{2} T^{2 H_{i}} n^{2 / p-2 H_{i}}=\sum_{i=1}^{\infty} \lim _{n \rightarrow \infty} \sigma_{i}^{2} T^{2 H_{i}} n^{2 / p-2 H_{i}}
$$

This yields the values mentioned in (31) are correct for the $p$-variation of $M$. For the mmfOU $U$, as it is stationary, we have

$$
\begin{aligned}
v_{\pi_{n}}^{p}(U) & :=\sum_{t_{k} \in \pi_{n}}\left|\Delta U_{t_{k}}\right|^{p} \\
& \frac{d}{=} \sum_{k=1}^{n}\left(\mathbb{V a r}\left[\Delta U_{t_{1}}\right]\right)^{p / 2}\left|Z_{k}\right|^{p} \\
& =n\left(\mathbb{V a r}\left[U_{\frac{T}{n}}-U_{0}\right]\right)^{p / 2} \cdot \frac{1}{n} \sum_{k=1}^{n}\left|Z_{k}\right|^{p} .
\end{aligned}
$$

As $\frac{1}{n} \sum_{k=1}^{n}\left|Z_{k}\right|^{p} \rightarrow \mu_{p}$ for $n \rightarrow \infty$, the problem reduces to the limit

$$
\lim _{n \rightarrow \infty} n\left(\mathbb{V} \operatorname{ar}\left[U_{\frac{T}{n}}-U_{0}\right]\right)^{p / 2}
$$

To find it, again because $U$ is stationary, and using the proof of Theorem 1 we have

$$
\begin{aligned}
\mathbb{V a r}\left[U_{\frac{T}{n}}-U_{0}\right] & =\mathbb{V} \operatorname{ar} U_{\frac{T}{n}}+\mathbb{V} \operatorname{ar} U_{0}-2 \operatorname{Cov}\left(U_{\frac{T}{n}}, U_{0}\right) \\
& =2 \mathbb{V} \operatorname{ar} U_{0}-2 \operatorname{Cov}\left(U_{\frac{T}{n}}, U_{0}\right) \\
& =2 \sum_{i=1}^{\infty} \sigma_{i}^{2} \lambda^{-2 H_{i}} H_{i} \Gamma\left(2 H_{i}\right)
\end{aligned}
$$

$$
\begin{aligned}
& -2 \sum_{i=1}^{\infty} \sigma_{i}^{2} \frac{\Gamma\left(2 H_{i}+1\right)}{2 \lambda^{2 H_{i}}}\left\{\cosh \left(\frac{\lambda T}{n}\right)\right. \\
& \left.-\frac{1}{\Gamma\left(2 H_{i}\right)} \int_{0}^{\frac{\lambda T}{n}} s^{2 H_{i}-1} \cosh \left(\frac{\lambda T}{n}-s\right) \mathrm{d} s\right\} \\
= & \sum_{i=1}^{\infty} \sigma_{i}^{2} \frac{\Gamma\left(2 H_{i}+1\right)}{\lambda^{2 H_{i}}}\left\{1-\cosh \left(\frac{\lambda T}{n}\right)\right. \\
& \left.+\frac{1}{\Gamma\left(2 H_{i}\right)} \int_{0}^{\frac{\lambda T}{n}} s^{2 H_{i}-1} \cosh \left(\frac{\lambda T}{n}-s\right) \mathrm{d} s\right\} .
\end{aligned}
$$

For the large values of $n$, the final series in the right-hand side above is uniformly convergent. So, the $\lim _{n \rightarrow \infty}$ and $\sum_{i=1}^{\infty}$ could change places. This yields

$$
\begin{aligned}
\lim _{n \rightarrow \infty} & n\left(\operatorname{Var}\left[U_{\frac{T}{n}}-U_{0}\right]\right)^{p / 2} \\
= & \lim _{n \rightarrow \infty}\left(n^{2 / p} \operatorname{Var}\left[U_{\frac{T}{n}}-U_{0}\right]\right)^{p / 2} \\
= & \left(\sum _ { i = 1 } ^ { \infty } \sigma _ { i } ^ { 2 } \frac { \Gamma ( 2 H _ { i } + 1 ) } { \lambda ^ { 2 H _ { i } } } \cdot \operatorname { l i m } _ { n \rightarrow \infty } n ^ { 2 / p } \left\{1-\cosh \left(\frac{\lambda T}{n}\right)\right.\right. \\
& \left.\left.\quad+\frac{1}{\Gamma\left(2 H_{i}\right)} \int_{0}^{\frac{\lambda T}{n}} s^{2 H_{i}-1} \cosh \left(\frac{\lambda T}{n}-s\right) \mathrm{d} s\right\}\right)^{p / 2} .
\end{aligned}
$$

Now for $t \rightarrow 0$, by the Taylor expansion

$$
1-\cosh t=-\sum_{r=1}^{\infty} \frac{t^{2 r}}{(2 r)!},
$$

and via integration by parts

$$
\int_{0}^{t} s^{2 H_{i}-1} \cosh (t-s) \mathrm{d} s=\frac{t^{2 H_{i}}}{2 H_{i}}+\frac{1}{2 H_{i}} \int_{0}^{t} s^{2 H_{i}} \sinh (t-s) \mathrm{d} s
$$

Again for $t \rightarrow 0$, by the Taylor expansion,

$$
\int_{0}^{t} s^{2 H_{i}} \sinh (t-s) \mathrm{d} s \leq \int_{0}^{t} t^{2 H_{i}} \sinh t \mathrm{~d} s=t^{2 H_{i}+1} \sinh t=\sum_{r=1}^{\infty} \frac{t^{2 r+2 H_{i}}}{(2 r-1)!}
$$

These yield for $t \rightarrow 0$

$$
1-\cosh t+\frac{1}{\Gamma\left(2 H_{i}\right)} \int_{0}^{t} s^{2 H_{i}-1} \cosh (t-s) \mathrm{d} s \sim \frac{t^{2 H_{i}}}{2 H_{i}+1}
$$

Therefore

$$
\lim _{n \rightarrow \infty} n\left(\mathbb{V a r}\left[U_{\frac{T}{n}}-U_{0}\right]\right)^{p / 2}=\left(\sum_{i=1}^{\infty} \sigma_{i}^{2} T^{2 H_{i}} \lim _{n \rightarrow \infty} n^{2 / p-2 H_{i}}\right)^{p / 2},
$$

this proves (31).

## 6 Conditional full support

As explained in [5], in mathematical finance models one of the must require features is the so-called Conditional Full Support (CFS) to avoid simple kind of arbitrage. This means that, given the information up to any time $\tau \in[0, T]$, the process is inherently free enough to go anywhere after time $\tau$ with positive probability. This motivates us to study the CFS property of the mmfBm and mmfOU processes but first we restate the precise definition of CFS from [12].

Definition 4. Let $X=\left(X_{t}\right)_{0 \leq t \leq T}$ be a continuous stochastic process defined on a probability space $(\Omega, \mathcal{F}, \mathbb{P})$, and $\left(\mathcal{F}_{t}\right)$ be its natural filtration. The process $X$ is said to have CFS if, for all $t \in[0, T]$, the conditional law of $\left(X_{u}\right)_{t \leq u \leq T}$ given $\left(\mathcal{F}_{t}\right)$, almost surely has support $C_{X_{t}}[t, T]$, where $C_{x}[t, T]$ is the space of continuous functions $f$ on $[t, T]$ satisfying $f(t)=x$. Equivalently, this means that, for all $t \in[0, T]$, $f \in C_{0}[t, T]$, and $\varepsilon>0$,

$$
\mathbb{P}\left(\sup _{t \leq u \leq T}\left|X_{u}-X_{t}-f(u)\right|<\varepsilon \mid \mathcal{F}_{t}\right)>0
$$

almost surely.
Theorem 6. Both the $m m f B m$ and the $m m f O U$ have conditional full support.
Proof. It is easy to check that

$$
f(x)=\sum_{k=1}^{\infty} \sigma_{k}^{2} f_{H_{k}}(x) \geq\left\{\begin{array}{ll}
\frac{\varepsilon_{H} \Gamma(1)}{2 \pi}\left(\sum_{k=1}^{\infty} \sigma_{k}^{2}\right)|x|^{1-2 H_{\mathrm{inf}}} & :|x| \leq 1 \\
\frac{\varepsilon_{H} \Gamma(1)}{2 \pi}\left(\sum_{k=1}^{\infty} \sigma_{k}^{2}\right)|x|^{1-2 H_{\mathrm{sup}}} & :|x| \geq 1
\end{array}=: h(x)\right.
$$

where

$$
\varepsilon_{H}:=\inf \left\{\sin \left(\pi H_{k}\right)\right\}_{k \geq 1}=\inf \left\{\sin \left(\pi H_{\text {inf }}\right), \sin \left(\pi H_{\text {sup }}\right)\right\} .
$$

Since $0<H_{\text {inf }} \leq H_{\text {sup }}<1, \varepsilon_{H}>0$. Thus $h(x)>0$ for $x \neq 0$. Therefore, for any $x_{0}>1$ we have

$$
\begin{aligned}
\int_{x_{0}}^{\infty} \frac{\log f(x)}{x^{2}} \mathrm{~d} x \geq & \int_{x_{0}}^{\infty} \frac{\log h(x)}{x^{2}} \mathrm{~d} x \\
= & \log \left\{\frac{\varepsilon_{H}}{2 \pi}\left(\sum_{k=1}^{\infty} \sigma_{k}^{2}\right)\right\} \int_{x_{0}}^{\infty} \frac{\mathrm{d} x}{x^{2}} \\
& +\left(1-2 H_{\text {sup }}\right) \int_{x_{0}}^{\infty} \frac{\log x}{x^{2}} \mathrm{~d} x>-\infty,
\end{aligned}
$$

and by Theorem 2.1 of [12] this proves that $M$ has conditional full support.

For mmfOU it is easy to check that

$$
f_{\lambda}(x)=\sum_{k=1}^{\infty} \sigma_{k}^{2} f_{\lambda, H_{k}}(x) \geq\left\{\begin{array}{ll}
\frac{\varepsilon_{H} \Gamma(1)}{2 \pi}\left(\sum_{k=1}^{\infty} \sigma_{k}^{2}\right) \frac{|x|^{1-2 H_{\text {inf }}}}{\lambda^{2}+x^{2}} & :|x| \leq 1 \\
\frac{\varepsilon_{H} \Gamma(1)}{2 \pi}\left(\sum_{k=1}^{\infty} \sigma_{k}^{2}\right) \frac{|x|^{1-2 H_{\text {sup }}}}{\lambda^{2}+x^{2}} & :|x| \geq 1
\end{array}=: h(x),\right.
$$

where

$$
\varepsilon_{H}:=\inf \left\{\sin \left(\pi H_{k}\right)\right\}_{k \geq 1}=\inf \left\{\sin \left(\pi H_{\mathrm{inf}}\right), \sin \left(\pi H_{\mathrm{sup}}\right)\right\} .
$$

Since $0<H_{\text {inf }} \leq H_{\text {sup }}<1$, we have $\varepsilon_{H}>0$. Consequently, $h(x)>0$ for $x \neq 0$. Therefore, for any $x_{0}>1$ we have that

$$
\begin{aligned}
\int_{x_{0}}^{\infty} \frac{\log f_{\lambda}(x)}{x^{2}} \mathrm{~d} x \geq & \int_{x_{0}}^{\infty} \frac{\log h(x)}{x^{2}} \mathrm{~d} x \\
= & \log \left\{\frac{\varepsilon_{H}}{2 \pi}\left(\sum_{k=1}^{\infty} \sigma_{k}^{2}\right)\right\} \int_{x_{0}}^{\infty} \frac{\mathrm{d} x}{x^{2}} \\
& +\left(1-2 H_{\text {sup }}\right) \int_{x_{0}}^{\infty} \frac{\log x}{x^{2}} \mathrm{~d} x \\
& -\int_{x_{0}}^{\infty} \frac{\log \left(\lambda^{2}+x^{2}\right)}{x^{2}} \mathrm{~d} x>-\infty
\end{aligned}
$$

The claim follows now from Theorem 2.1 of [12].

## 7 Sample paths

Here we aim to present some replications of the mmfOU and its related mmfBm with different limitations for its Hurst exponents. Obviously the limitations of the Hurst exponents characterize the roughness of the sample paths. In each of these replications, the mmfOU is given on $N=1000$ equidistant points $t_{k}=k /(N-1)$ of the time interval [0, 1], with $n=10$ equidistant Hurst exponents $H_{i}=H_{\text {inf }}+$ $(i-1)\left(H_{\text {sup }}-H_{\text {inf }}\right) /(n-1)$ on the Hurst interval [ $H_{\text {inf }}, H_{\text {sup }}$ ]. Also, the coefficients $\sigma_{i}=i^{-1}, i!^{-1}, \mathrm{e}^{-i}$ are used and indicated in each figure. In all paths here $\lambda=1$.

| $\sigma_{i}=1 / i!$ |  | $\sigma_{i}=\mathrm{e}^{-i}$ | $\sigma_{i}=1 / i$ |
| :---: | :---: | :---: | :---: |
|  |  |  |  |
|  |  |  |  |
| -3 |  |  |  |

Fig. 2. Sample paths of mmfBm with equidistant time points and equidistant Hurst parameters

|  | $\sigma_{i}=1 / i!$ | $\sigma_{i}=\mathrm{e}^{-i}$ | $\sigma_{i}=1 / i$ |
| :---: | :---: | :---: | :---: |
| $$ |  |  |  |
|  |  |  |  |
| - |  |  | $\begin{aligned} & 2 \\ & 2 \\ & 0 \\ & -1 \\ & -2 \\ & -2 \\ & -3 \\ & -4 \\ & -4 \\ & -1 \end{aligned}$ |

Fig. 3. Sample paths of mmfOU with equidistant time points and equidistant Hurst parameters

## References

[1] Abramowitz, M., Stegun, I.A., Romer, R.H.: Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables. American Association of Physics Teachers (1988). MR0415962
[2] Azmoodeh, E., Sottinen, T., Viitasaari, L., Yazigi, A.: Necessary and sufficient conditions for Hölder continuity of Gaussian processes. Stat. Probab. Lett. 94, 230-235 (2014). doi:https://doi.org/10.1016/j.spl.2014.07.030. MR3257384
[3] Barboza, L.A., Viens, F.G.: Parameter estimation of Gaussian stationary processes using the generalized method of moments. Electron. J. Stat. 11(1), 401-439 (2017). https://doi.org/10.1214/17-EJS1230. MR3611508
[4] Bender, C., Sottinen, T., Valkeila, E.: Arbitrage with fractional Brownian motion? Theory Stoch. Process. 13(1-2), 23-34 (2007). MR2343807 (2008d:91038)
[5] Bender, C., Sottinen, T., Valkeila, E.: Pricing by hedging and no-arbitrage beyond semimartingales. Finance Stoch. 12(4), 441-468 (2008). https://doi.org/10.1007/s00780-008-0074-8. MR2447408 (2009j:91078)
[6] Biagini, F., Hu, Y., Øksendal, B., Zhang, T.: Stochastic Calculus for Fractional Brownian Motion and Applications. Probability and its Applications (New York), p. 329. Springer (2008). https://doi.org/10.1007/978-1-84628-797-8. MR2387368 (2010a:60145)
[7] Cheridito, P.: Mixed fractional Brownian motion. Bernoulli 7(6), 913-934 (2001). https://doi.org/10.2307/3318626. MR1873835
[8] Cheridito, P., Kawaguchi, H., Maejima, M.: Fractional Ornstein-Uhlenbeck processes. Electron. J. Probab. 8, 3-14 (2003). https://doi.org/10.1214/EJP.v8-125. MR1961165 (2003m:60096)
[9] Doob, J.L.: The Brownian movement and stochastic equations. Ann. Math. (2) 43, 351369 (1942). MR0006634
[10] Dudley, R.M., Norvaiša, R.: An Introduction to P-variation and Young Integrals: With Emphasis on Sample Functions of Stochastic Processes. Centre for Mathematical Physics and Stochastics, University of Aarhus (1998)
[11] Dudley, R.M., Norvaiša, R.: Differentiability of Six Operators on Nonsmooth Functions and $p$-variation. Lecture Notes in Mathematics, vol. 1703, p. 277. Springer (1999). With the collaboration of Jinghua Qian. MR1705318 (2000e:46053)
[12] Gasbarra, D., Sottinen, T., Van Zanten, H.: Conditional full support of gaussian processes with stationary increments. J. Appl. Probab. 48(2), 561-568 (2011) MR2840316. https://doi.org/10.1239/jap/1308662644
[13] Gelfand, I., Shilov, G.: Generalized Functions, Vol. 1. Academic Press, New York (1964) MR0166596
[14] Houdré, C., Villa, J.: An example of infinite dimensional quasi-helix. In: Stochastic Models (Mexico City, 2002). Contemp. Math., vol. 336, pp. 195-201. Amer. Math. Soc., Providence, RI (2003). https://doi.org/10.1090/conm/336/06034. MR2037165 (2004m:60077)
[15] Hu, Y., Nualart, D.: Parameter estimation for fractional Ornstein-Uhlenbeck processes. Stat. Probab. Lett. 80(11-12), 1030-1038 (2010). MR2638974. https://doi.org/10. 1016/j.spl.2010.02.018
[16] Hurst, H.E.: Long-term storage capacity of reservoirs. Trans. Am. Soc. Civ. Eng. 116(1), 770-799 (1951)
[17] Kalemkerian, J.: Modelling and parameter estimation for discretely observed fractional iterated ornstein-uhlenbeck processes. J. Stat. Plan. Inference 225, 29-51 (2023). MR4516401. https://doi.org/10.1016/j.jspi.2022.11.004
[18] Kalemkerian, J., Sosa, A.: Long-range dependence in the volatility of returns in uruguayan sovereign debt indices. J. Dyn. Games 7(3), 225 (2020). MR4128827. https://doi.org/10.3934/jdg. 2020016
[19] Kolmogoroff, A.N.: Wienersche Spiralen und einige andere interessante Kurven im Hilbertschen Raum. C. R. (Dokl.) Acad. Sci. URSS 26, 115-118 (1940). MR0003441 (2,220c)
[20] Kubilius, K., Mishura, Y., Ralchenko, K.: Parameter Estimation in Fractional Diffusion Models, Vol. 8. Springer (2017). MR3752152. https://doi.org/10.1007/978-3-319-710303
[21] Langevin, P.: Sur la théorie du mouvement brownien. C. R. Acad. Sci. Paris 146, 530-533 (1908)
[22] Lévy-Véhel, J.: Fractal approaches in signal processing. Fractals 3, 755-775 (1995). Symposium in Honor of Benoit Mandelbrot (Curaçao, 1995). https://doi.org/10.1142/ S0218348X95000679. MR1410294
[23] Maleki Almani, H., Hosseini, S.M., Tahmasebi, M.: Fractional Brownian motion with two-variable Hurst exponent. J. Comput. Appl. Math. 388, 113262 (2021). https://doi.org/10.1016/j.cam.2020.113262. MR4199791
[24] Mandelbrot, B.B., Van Ness, J.W.: Fractional Brownian motions, fractional noises and applications. SIAM Rev. 10, 422-437 (1968). MR0242239
[25] Mishura, Y.S.: Stochastic Calculus for Fractional Brownian Motion and Related Processes. Lecture Notes in Mathematics, Vol. 1929. Springer (2008), 393 pp. https://doi.org/10.1007/978-3-540-75873-0. MR2378138 (2008m:60064)
[26] Perrin, E., Harba, R., Berzin-Joseph, C., Iribarren, I., Bonami, A.: nth-order fractional brownian motion and fractional gaussian noises. IEEE Trans. Signal Process. 49(5), 1049-1059 (2001). https://doi.org/10.1109/78.917808
[27] Perrin, E., Harba, R., Iribarren, I., Jennane, R.: Piecewise fractional Brownian motion. IEEE Trans. Signal Process. 53(3), 1211-1215 (2005). https://doi.org/10.1109/TSP. 2004.842209. MR2123915
[28] Samorodnitsky, G., Taqqu, M.S.: Stable Non-Gaussian Random Processes: Stochastic Models with Infinite Variance. Stochastic Modeling Series. Taylor \& Francis (1994). https://books.google.fi/books?id=wTTUfYwjksAC. MR1280932
[29] Sottinen, T.P.: Fractional Brownian Motion in Finance and Queueing, p. 120 (2003). Thesis (Ph.D.)-Helsingin Yliopisto (Finland). MR2715575
[30] Zili, M.: On the mixed fractional Brownian motion. J. Appl. Math. Stoch. Anal. 2006, 032435 (2006). https://doi.org/10.1155/JAMSA/2006/32435. MR2253522


[^0]:    * Corresponding author.
    © 2023 The Author(s). Published by VTeX. Open access article under the CC BY license.

